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A radioactive nucleus of half lifelusec ( micro second) moves through
the laboratory at 2.7C, where C is velocity of light = 3 x 108m/sec. The
half-life measured by an observer in the laboratory will be ...........
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A man on moon observes two space ships coming towards him from
opposite directions at speeds of 0.9 C and 0.8 C respectively. The relative
speed of the ships as measured by an observer on either one of the ships
willbe ..eeeeeinnnee
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The velocity at which the mass of a particle becomes double its rest
MASS IS vevvvvueerereeennnns
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Moment of inertia of a rigid rod of length | and mass m about an axis
passing through one of its end and perpendicular to its length is ............

| W5 9 m ©®F 97 AF TINNT F(GH TGO INF A6 AF N
T 97 TR T @ IR AT 9T E AT O, T T e

Radius of gyration of a solid sphere of radius R about its own axis will
be ....

@6 (SNa@Ea f9oe I e tasifed I 3@ (TI@E T[N R) ...



10.

11.

12.

13.

A solid sphere and a hollow sphere roll down an inclined plane from the
same height. The ratio of their acceleration will be ..........
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The de Broglie wavelength associated with an electron of kinetic energy
0.1 MeV for non-relativistic case is ................
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The degree of freedom for N particles in space are ..............
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Which constraints are time dependent ?
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The generalized coordinates for motion of a particle moving on the
surface of a sphere of radius ‘a’ are. ..............
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The Lagrangian equations of motion are ............ order differential
equations.
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Quantum mechanics, in its most general formulation, is a theory of
operators (observables) acting on an abstract space called ..............
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The fundamental observables associated with the motion of a single
quantum mechanical particle are ..............
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Any wave function can be written as a linear combination of ............
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The energy of electron of the first Bohr orbit of hydrogen atom is
— 13.6 eV. The energy emitted by photon when an electron jumps from
the second to the first Bohr orbit is
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